| number of missing inner layers

missing_inner_layers

1g - Entries 3792
E ' Mean 1.532
C N Std Dev 1.199
10_15_ """"""""" P missing_inner_layers
F Entries 3749
r : Mean 1.527
_ H Std Dev 1.183
10 2 S T ot :
) T T S .
10°F H H '
L R R ARER & T ECERIEEE ERLERES
-5 N R e
107 g : :
o1 DD@: L " | i N A N | N
k- [ :
x [ <4 :
ol 1 5 AR ARt S
0.95L :
0 5 10

15

20 25

| number of missing outer layers

missing_outer_layers

1e . Entries 3792
E : Mean 1.332
r . Std Dev 1.646
10_15— """" reeer] missing_outer_layers
= - Entries 3749
C : Mean 1.326
2| | Std Dev 1.643
10 E . . H H
10*3=— ------------------ S R EEEEL R, TR TETEE P
4L
107k :
PR

107°

.9105(3 T ....!.... T T I T I
= :
m —

...."![....

—_—

1 2 3 4 5 6

7 8 9 10

mean hi

—s— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
—s— DQM_V0001_R000000001__Global__mkFit100Time__RECO

20

18

<hits> vs n

16fF
14
12

10f

Ratio

[y

o
©
C

Tl

W
|

N

-1 0

num_simul_pT

Entries 13754
| - A Mean 2.19
lo Std Dev 6.37
. B |
N num_simul_pT
2 T . B Entries 13754
10 : Mean 2.19
H Std Dev 6.37
3 .
O AARISREEE CEEEE FEREEELE
lO_AE"""""E """""""""""""""""""
-5 P R R
107 : :
ol ]
0108 :
=1 .
= b
o

0.95L

10

F v Entries 3792
C 27 Mean 12.56

Std Dev

10?

r
4
C

Ratio

=0 [ -pmtte - e

piil

[y

0.95

o

10 15 20 25

S8
&)

30 35 40
track hits

num_reco_pT

Entries 5070
Mean 0.9169
Std Dev 1.436
.................. 1

num_reco_pT

1072

Entries 4882
Mean 0.9264
1.46

Std Dev

1073

10°F : :
10°F : :
010% SR ApRaHRRuR A
T 1 :
i 11

iy
TTTT T T

0.95

10

o
h
=

1

10°

102
track p_



	Contents
	Page 1


